Given a graph of a function defined by y = r(x)
with domain [-3,3] and range [0,4]
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the function given by y = r(x — 1) obtained by right shift by 1-unit
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-3 -2 -1

y=r(x+1) Leftshift by 1-unit

Domain [-4,2] Range [0,4]
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y=2(x)-37
domain [-3,3] and range [-3,5]
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y Given a graph of a function defined by y = A(x)
with Domain [-2,0) and the range [0,1]

— - L —
-2 -1 1 2 3 4 5 6 7
1 X

Sketch a graph and write the domain and the
range of the function defined by y = A(x - 1)
because of horizontal

shift to the right

(-2,0) - (-1,0)
2,1) > (3,1)
(5,0.5) > (6,0.5)

2,1) (3,1)

(20)/ 

32 (=1,0) 1 2 3 4 5 6 7 8 9

Domain [—-1, ) Range [0,1]
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Sketch a graph and write the domain and the
range of the function defined by y = A2(x + 1)

y = h(x+1) Domain[-3,0) Range [0,1]

Sketch a graph and write the domain and the
range of the function defined by y = A#(2x)

y = h(2x) Domain [-1,0 ) Range [0,1]
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Given a graph of a function defined by y = A(x)
with Domain [-2,%) and the range [0,1]

Sketch a graph and write the domain and the
range of the function defined by y = 2A(x) — 3

3__

3 L

y = 2h(x)—3 Domain [-2,©) Range [-3,-1]
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